
MOTORIZED LIFT 
STAND

Installation Guide



Content
Parts List

Specification

Electric support installation tutorial

Horizontal plate red light installation tutorial

Vertical plate red light installation tutorial

Double red light installation tutorial

Transverse panel light type accessories

Vertical panel light model accessories

Two horizontal installation sequence

Four horizontal installation sequence

RL series mounting accessories

List of accessories for each product of RL series

TL series mounting accessories

List of accessories for each product of TL series

Dimensions

Remote controller

01

01

02

04

05

06-07

08-10

11-12

13

14

15

15-19

20

21-25

26

27

Power source 28



Please read carefully before assembling the stand.

Do not assemble the product if any of its parts/hardware 
are damaged or missing, if you require replacement parts, 
please contact us for assistance.

Maximum load capacity: 50KG/110.2LBS.

Use the product(s) only as intended by the manufacturer.

This product contains moving parts, please use it with caution.

We are not responsible for/do not cover: Damage from 
modification of the product, improper assembly, use with 
load over the specified weight range and damage ensuing 
from a natural disaster.

Please do not use this stand in any other orientation than 
on the floor right side up, any differentpositioning will 
damage the product (e.g., suspended from ceiling).

WARNING



X1A

X1B

X4C X4D X1E X1F

X4G

X6L X24M

X2N X2O X2Q

X2P

X4H X4I X4J X4

M4*8

M8*65 M8*16

K

Parts List

Specification

Input: Net weight:

Stroke:

Size:

110-240V AC 40Kg

1080-1500mm

900*730*1080mm

Load Capacity:

Operation Temperature:

Compatible mount type: 

50Kg

0-40℃

Floor

01



02

Electric support 
installation tutorial

X4G

A

G
G

G
G

L

M M
M M

M K
K

K
K

MM
M

L
L L L L

A

B

Step1 Step2

Step3 Step4

X6L

X4M

X4M X4K

Install (G) at the bottom of (A) The two components (A) &(B) are connected
by (L) and then fixed by (M)

Connect the (F) &(B) parts together using (M) Fasten the (E) part above (F) by (K)

B

F F

E



03

X4C

X4D

F

Electric support 
installation tutorial

Step5 Step6

Step7 Step8

The electric support is assembled Install (C) inside (D) part

Install (D) above the hole corresponding 
to the (F) part

Use the (J) component to secure the (D) 
component above the corresponding 

hole of the (F) component

D

C

D
D

D
D

J
J
J J

F

D

X4J



04

Horizontal plate 
red light installation tutorial

Step9 Step10

Step11 Step12

Use the (M) component to fix the (Q) 
component to the corresponding red light

Use the (M) component to secure the 
mounted red light to the (D) component

The red light is installed horizontally 
on the support

Use part (D) to rotate the red lights 
in vertical rows

M M

M

M

M
M M M

M

M

MM

Q

D

D

X4M X8M



05

Vertical plate 
red light installation tutorial

Step1 Step2

Step3 Step4

Use (H) & (I) to secure part (D) to the bracket Install the holes in (O) component 
on (D) accordingly

Use the (M) part to fix the (O) part to the 
(D) & (Q) part so that the panel 

light is fixed to the bracket

Installing red lights in vertical 
rows is complete

H

I I

H

O O

M
M

M
M

M
M

M
M

D

Q

DD

X4I

X8M

X2O
X4H



F

D

D
D

D
D

J
J
J J

F

D

06

Double red light 
installation tutorial

Step1 Step2

Step3 Step4

Place the (D) component on the 
corresponding hole of the (F) component

Use the (J) component to fasten the (D) 
component to the (F) component

Attach (P) to D using (M) parts Use the (M) part to attach the (Q) part to
 the two panel lights

P

M
M

M
M

M M
M

M

M

M
M

M M

M
M

M

X8M X8M

X4D X4J

Q



07

Double red light 
installation tutorial

Step5 Step6

Attach the panel light to the motor 
support using the (M) part

Two horizontal panel lights are installed

M
M

M
M

X4M



X4 X4 X12

X2N

X2

X2P

X4450max

Transverse panel 
light type accessories

X4 X4 X16X4450max*2

X4 X4 X12

X2N

X2

X2P

X4600max

X4 X4 X16X4600max*2

08



X4 X4 X12

X2N

X2

X2P

X4TL800

Transverse panel 
light type accessories

X4 X4 X12X4TL1000

X4 X4 X12

X2N

X2

X2P

X4TLP600

X4 X4 X12X4TLP800

09



X4 X4 X12

X2N

X2

X2P

X4TLP1000

Transverse panel 
light type accessories

X4 X4 X12X4TL300PLUS

10



X4C

X4

X16M

X2O

X2Q

X4H

X4J

X4C

X4

X16M

X2O

X2Q

X4H

X4J

X4C

X4

X16M

X2O

X2Q

X4H

X4J

450max

Vertical panel 
light model accessories

600max  TL800

11



Vertical panel 
light model accessories

X4C

X4

X16M

X2O

X2Q

X4H

X4J

X4C

X4

X16M

X2O

X2Q

X4H

X4J

X4C

X4

X16M

X2O

X2Q

X4H

X4J

TLP600 TLP800 TL300PULS

12



13

Two horizontal 
installation sequence

Step3 Step4

Step2

Step1 M

M
M M

M

M
M

M

HH

M

M
M

M
M

M
M

M

X8M

X8M

X4H

Install the connector on the panel light using the (M) part

Secure the parts connecting the two panel lights using the (M) parts

Install the two panel lights on the 
motor support using part (H)

Two panel lights were successfully 
installed on the electric support



14

Four horizontal 
installation sequence

Step3 Step4

Step2

Step1
M

M
M M

M
M M

M

M
M

M M

M

M
M M

M
M M

M
M M

M

M
M

M M
M

M

M
M

M

H H
H H

X8M

X8M

X4H

Install the connector on the panel light using the (M) part

Secure the parts connecting the two panel lights using the (M) parts

Install the four panel lights on the 
motor bracket using part (H)

Four panel lights were successfully 
installed on the electric support



RL-A RL-B RL-C

RL-D RL-E

RL-G RL-H RL-I

RL-F

X4 X16 X1

M8*12M8*60

TC-PZ-BJ

X2

RL120*2

RL series 
mounting accessories

List of accessories 
for each product of RL series

15

RL2X-AZJ RLMAX2X-AZJRL-AZJ

RL-AZJ

RL-MAX23

M8*12

RL-MAX33RL-MAX22

RL-MAX22

M8*60



RL-A

RL-A

RL-B

RL-B RL-D

RL-E

RL-E

RL-G RL-H

RL-G RL-H

RL-G RL-H

RL-G RL-H RL-F

X4 X16 X1X2

X4 X16 X1X2

X4 X32 X2X4

X4 X32 X2X4

RL120*4

RL120/RL300

(RL120/RL300)*2

RL300*2

List of accessories 
for each product of RL series

16

M8*12M8*60

M8*12M8*60

M8*12M8*60RL2X-AZJ

RL2X-AZJ

RL-MAX22

RL-AZJ

RL-AZJ

RL-MAX23

RL-MAX23

RL-MAX33

M8*12M8*60



RL300*4

17

RL-A

RL-I

RL-C

RL-B RL-F

RL-D

RL-D

RL-G RL-H

RL-G RL-H

RL-G RL-H

RL-G RL-H

X4 X16 X1X2

X4 X16X2

X4 X32 X2X4

X4 X32 X2X4

RL120MAX*2

RL120MAX*4

RL300MAX

List of accessories 
for each product of RL series

M8*12M8*60

M8*12M8*60

M8*12M8*60RL2X-AZJ

RLMAX2X-AZJ

RL-MAX33

RL-AZJ

TC-PZ-BJ

RL-MAX22

RL-MAX22M8*12M8*60



18

RL300MAX*2

RL120MAX
RL300MAX

RL120MAX*2
RL300MAX*2

RL300MAX*4

RL-C

RL-C

RL-A

RL-A RL-E

RL-E

RL-F

RL-F

RL-G RL-H

RL-G RL-H

RL-G RL-H

RL-G RL-H

X4 X16 X1X2

X4 X16X2

X4 X32 X2X4

X4 X32 X2X4

List of accessories 
for each product of RL series

M8*12

X1

RL-MAX33M8*60

M8*12M8*60

M8*12M8*60RL-AZJ

RL-AZJ

RL-MAX23

RLMAX2X-AZJ

RLMAX2X-AZJ

RL-MAX23

RL-MAX33M8*12M8*60



X4 X4 X12X4RL1000PRO

X4 X4 X12 X2

X2

X2

X4RL1200PRO

X4 X4 X12X4RL1500X

X4 X4 X12 X2X4RL2000PRO

List of accessories 
for each product of RL series

19



TC-PZ-BJ

20

TL-A TL-B TL-C

TL-D TL-E TL-F

TL-G TL-H TL-I

TL-J TL-K TL-L

TL-M TL-N TL-O

TL-P TL-Q TL-R

PLUS3333-ULJ

TL series 
mounting accessories

PLUS1X-ULJ PLUS2X-ULJMUJ-2P-L420W71H15

PLUS23-ULJ

M4*8 M8*60 M8*12

U22-PLUS

PRO33VJ-ULJ

PLUS2233-ULJ

PRO31VJ-ULJ PRO32VJ-ULJ

ULJ-P1X

ULJ-32 ULJ-33ULJ-31



X2

X4

X2

X4

X24

X4

TC-PZ-BJ

List of accessories 
for each product of TL series

TL200/TL300

21

TL-A

TL-O

TL-M

TL-P

TL-Q

TL-R
M4*8

M8*60

M8*12

ULJ-P1X

ULJ-31

X2

X4

X2

X4

X28

X8

TC-PZ-BJ

TL-A

TL-O

TL-J

TL-P

TL-Q

TL-R
M4*8

M8*60

M8*12

MUJ-2P-L420W71H15

ULJ-31

X2

X4

X2

X4

X26

TC-PZ-BJ

TL-B

TL-O

TL-M

TL-Q

TL-R

M8*60

M8*12

ULJ-P1X

ULJ-32

TL100/TL300 (TL100/TL300)*2



22

X2

X4

X2

X4

X34

TC-PZ-BJ

List of accessories 
for each product of TL series

TL300*4

TL-B

TL-O

TL-J

TL-Q

TL-R

M8*60

M8*12

MUJ-2P-L420W71H15

ULJ-32

X2

X4

X2

X4

X28

TC-PZ-BJ

TL-C

TL-O

TL-M

TL-Q

TL-R

M8*60

M8*12

ULJ-P1X

ULJ-33

X2

X4

X2

X4

X36

TC-PZ-BJ

TL-C

TL-O

TL-J

TL-Q

TL-R

M8*60

M8*12

MUJ-2P-L420W71H15

ULJ-33

(TL200/TL300)*2 TL300*2



23

X2

X4

X2

X4

X24

X4

TC-PZ-BJ

List of accessories 
for each product of TL series

TLP200/TLP300

TL-G

TL-O

TL-M

TL-P

TL-Q

TL-R
M4*8

M8*60

M8*12

ULJ-P1X

PRO31VJ-ULJ

X2

X4

X2

X4

X28

X8

TC-PZ-BJ

TL-G

TL-O

TL-J

TL-P

TL-Q

TL-R
M4*8

M8*60

M8*12

MUJ-2P-L420W71H15

PRO31VJ-ULJ

X2

X4

X2

X4

X26

TC-PZ-BJ

TL-H

TL-O

TL-M

TL-Q

TL-R

M8*60

M8*12

ULJ-P1X

PRO32VJ-ULJ

TLP100/TLP300 (TLP100/TLP300)*2



24

TLP200*2
TLP300*2

TL-H

TL-I

TL-I

TL-QTL-JTL-O TL-R

TL-QTL-MTL-O TL-R

TL-QTL-JTL-O TL-R

TL-QTL-K TL-R TL-D

X2 X4 X28 X2X2

X2 X26 X2X2

X2 X34 X2X4X4

X2 X4 X36 X2X4

TLP300*2

TLP300*4

TL200PLUS
TL300PLUS

List of accessories 
for each product of TL series

M8*12M8*60

M8*12M8*60

M8*12M8*60TC-PZ-BJ

TC-PZ-BJ

PRO32VJ-ULJ

TC-PZ-BJ ULJ-P1X

PLUS1X-ULJ PLUS23-ULJ

PRO33VJ-ULJ

PRO33VJ-ULJM8*12M8*60

MUJ-2P-L4
20W71H15

MUJ-2P-L4
20W71H15



25

TLP200PLUS*2
TLP300PLUS*2

TL-E

TL-N

TL-F

TL-QTL-LTL-O TL-R

TL-QTL-O TL-R

TL-QTL-LTL-O TL-R

TL-QTL-O TL-R

X4 X24 X1X2

X2 X4X4

X2 X40 X2X4X4

X2 X4 X28 X2X4

TLP300PLUS*2

TLP300PLUS*4

TL600

List of accessories 
for each product of TL series

M8*12M8*60

M8*12M8*60

M8*12M8*60TC-PZ-BJ

TC-PZ-BJ

PLUS2233-ULJ

TC-PZ-BJ

TC-PZ-BJ

U22-PLUS

PLUS3333-ULJM8*12M8*60PLUS2X-ULJ

PLUS2X-ULJ



Dimensions

26

88.89cm

11
8.

05
cm

73cm

360° 360°

360° 360°



27

Remote controller

Set: Displays the configuration screen/function selection

Tap rise to 
release stop

“+”:Function options added

“-”:Function options reduced

Turn on/Pause on the main screen You return to the main 
screen when you switch to the light configuration screen

UP: Point rise

Start/Stop: stops

DOWN: Tap to go down

UP

Tap drop to 
release stopDOWN



28

Power source

Correctly connect the Control Box, Control Panel, Power Cord, Lifting
Column and Patch Cord. (Picture A) Plug the power cord 
into 110-240V AC outlet.

Picture A



SCAN  IT
Go to website for details

janp
ItopPDFText
Distributor: Uno Vita AS
Homepage: Unovita.com
E-mail sales and support: sales@unovita.com
Phone +47 22 09 1889


